integrating factor I = oJ Bl

[ = efldx
Izelnx
I=x

We multiply the differential equation through by x

dy 1

xX— + x—y = xsinx
dx x
dy +1 [
xX— + Y = xsinx
dx Y

Product Rule

( v)—udv+vdu
) TN T Vax
d = dy+1

dx(x y) X y

a(x - V) = xsinx
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E(x +y) = xsinx

d .
fa(x-y)dx: J’xsmxdx

xX-y= fxsinx dx

x-y = x(—cosx) — f(—cosx) -1 dx

Xy = —xcosx + f cosx dx

x -y =—xcosx +sinx+C
sinx C
y = —cosx + +—
X
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Integration by Parts

J’ dv 4 J‘ du d
u T X = uv v P x
u=x dv

@ _ T = sinx

dx v = —coSsX



